
��������� �	�
��� �
������ ��
����� �� �����

�� �����

��� ��� ������ ����	 
��

�
 ������
������������	�

��������� ��� ����� �������� � ������� �� ������� ����������  ���!��
�������� ����"��� ��� ���	 ����� ��� !��� ������ ����	 �#����� ����� �
������ ��!������� ��!������ !���� #��� �� �������� ������� ������$
��!�������� %��� ������� �� ��	 ���� �� �� #� ������!� �� ��!�����
���������	 ��� ���� �  ����� $

� ���������	��

���	
�
�� 
� 
 ������ 	��	��� 
� ���� ���� ����
���� �
��
	�� ��
	�
�� 
� 
		���
��
���� 
�� ����
�� �
���� ����
���
�� ��� ���� 
�	��
�
�� ����� �� 
�����
�
	�
��
��� 
� ��	
�� ��
���� �����
� ��
�� 
�� ��
� ����� ���� �� ���� ��
���� ����
��� ����
�� ��
�� �
���
��� ���� ������ 
�� �
���
��
	 �
��
�� �������� ��
�
���� ����� ��
�� 
������� �
��� �� ��������� ������� 
� �� ����
��� ���	�� �� ����
�����
��
�
�
�� �� ��������� �
��
	�� ���
���

 �
� �
� ���
�
��� ����
�
�� �� ��� �
����
	
�� 	��� !����
 "#$� ��������
��������� �� %� �� �

��� 
�� &� '
����
 
� (
	�
� ��� 	
�	��
�
�� ��
)�	���
�� 
�
�
����
	 ���	�������� ���� �
�� "*$� �
��� ����
���� �
����
	
�� ��

�� 	��	�����
��
� ��
	�
�� ��� ��� ������� �� �����
�� ��� 
���
��
�
�� �� 
 �
��

� (
���

�
��
�� 
� ��� + '�, ���	������� (
����� - ��� �

� �
�� ����� �
� �������� ��
��� ��� �
�� 
����� ������	�
	 �
��
	�� ��
������ ���������� ��� 
���� #.� ����
�
��
�� �����
�
/
�� �����
�	� 	����
��� �� ��� ����� �
�� �
�
��� ������	�
	
��
	�
�� �� 
�� ����� ��
� 	��������� 0��� ��� ��1 
� ������	� 
� �
��
	��
� ��
�
���� 
�� 2�
������� ��
��� ����� ��
� �
�� 
 �
)�� ���� 
� �����
�
/
�
���
��
	� 
�� ������ �� ���� 2�
�� ���� "+$�  �
� ��
���
��� 	��
�� �
�� 0��	�1 �
����
�
/� �
	�
���� 
� ���� ��
���
��� 	���� �� ���� ����� ���
�
��� 
�� ������
���

�	���
�� 
�� ����� �� ���� �� ���� ������ ����	�� �� �����
��
�
�
�� "3$�"4$� �
�����
�������
�� ����
��
	
��� �����
��
� ���
�� 
� 
� ���	�����
�
	 ����
�� �
�� "5$�

6� ��� ������
��� �� ���� ��	
�� ��� ��
�	
���� �� ��� 
�����
�
�� ������ 
��
���� ������ ����� 7�8� �� ����
�
/� ���� ��
�
����� �����
	
� ������� ��
���

����


 ���
�	��� �
����

��� ������	�
��

!����
 ������ ��� 9�����/ �2�
�
�� �0��1��� : �0�;���1 �� �����
��  
����
�8�
��
��� �� ��� ��	��� ���
�
�� � 
�� ����	
�� �� ��
	� ��
���



& ����!�� �������� ����"���

u (M1)
M1

R (M1)

u (M0)

R (M
0

)

Z

X
Y

Z

Y

X

M

0

Reference

�	
� �� �������� !����� �� ��� '���#� ���!�	 �� ����!����� ��� �� ��� ��(�$

�0��1 : �0��1 ; �0��1�	; �
�0��1 �	

��*< ; 
 
 


�0��1 : �0��1 ; �
�0��1�	; �

��0��1 �	
��*< ; 
 
 


�����
� � : ��� �
�� � : ���� �	 : � �� � � � : ����	� 
�� �
�� �� :
��� : � �
 �� �
 : �
�
�
�� �� ��� �
��
	�� �
�� �
�� � 
�� 	�
��� ��  ��
���
�
�
��� ���� : �����	� 
�� ���

��� 
� ���	�
��� �� ��� ���� ���
�
�
���
�����	�� �����	� �� ��	���
�� �
������

�
�� �� ��� �2�
�
�� �� ���
��� 
� ���
������
�� �
��

�������� ��	
� � 6� ������ �
����
	 ���
	
� �������� ��� �
��
	�� �
�
�
�� 
�
	����
�� 
�� ��� ��	���
�� �
������

�
�� �
���� ��
��� �
 �� : ���� �
 ��� :
�� �� ; ����� 
�� �� ������


	����������� ��	
� � 6� ������ ���	��
	 ����� ��� �
�
�
�� �
�
�� 
�� ��� ��	���
�
�� �
������

�
�� �
��� ��� ���� �
���� ���� 0�
1��;�
 � � : ���� 0�
1���;
*0�
1�� � ; �
 � �� : 0#��1�� ; � ���� ��	�� �����
� ��� �
�
�
�� 
����� 
� 
���
���

��� ��  
���� �8�
��
��

0�
10��1 : 0�
10��1 ; 0�
1
�0��1�	; 0�
1

��0��1 �	
��*< ; 
 
 


 �� ���
�
�
��� 0�
1��� : ��0�
1��	� 
�� 
� ���� ���

��� �� 
�����
�� ��	���
��
�
������

�
�� ��� �� ��� ��� �
�� 0�
1� : 0� � �1��� 
�� �� ��� ����� �
��
�
 0#��1� : 0#���1 0� � �1� 0#��1 0�
1�


=� ��
�	
��� ����� ��
������
�
��� 
�� ������	�
	� 
� ��
	�
	� ���  
����
���
�� 
�� ����	
��� �� ��
� ���� ���	
�
�� 
� ���

��� ���� ��� �
���� �����
���
�
�
��� 
� ��� ����	
��� ���
�� 
�� /��� 0
� ��
�� �� �
	�
�� 
		��
	�1 �

��� �
�
� ����
�

 �� �
)�� 	��������� 
� 
		����
����� 
� ��
�� �����
�� �� &> ����
��� 
�� ����
�
����� �� ����
���
� ����	��� ?8��
	
� 
�
���
	
� �8�����
��� �� ����
���� �����

�� �� ���
� ���
�
�
��� 
�� ��
�� ���� ��� �����
� +�& �	
�
� ������

� 0��
�



����!�� �������� ����"��� )

����� ��� ���� �
����
	 
�� 0�����1 ���	��
	 ����
�����1

��0	� �� �1 : 0�<1
�
� ��
���

0�1�
�
����
��� 0	1

3��<0�; �1<
0�� ; ��1�

�� ��
���

�
�0��
� 1�

�����

�<0���1<

�

0#1
����� �� 8� / 	����
�
��� 
�� �����	�
���� 	���
�
��
�� ��
������� ���
/���
� 
��
����
	
�� ����0	1 0� : #� *� +� ���
1 ���	�
�� ��� ����
���
�
� ���� �� ��� �����


�	���
�� ��� �
������� 
�� �
����
��� : ���������	

��� 7��� ��
�� �
��
� �
���� ����

�� 
� ���� ���� ��
�� �
�� ���� ���� ������ ���������	
�� � . 0�� �: .1 ���	�

��� ���� 
�� ���
�
�
��� ���
�� ���� ��� �
���
��� ������

��

��0�� �1 : ��� � ��0�� �1 : ���� � ��0�� �1 : ��0�
� � ���+1�� ��	� 0*1

����� ����
 
� ��� ���������

���	
 ��		��� �� ������ ��
� � >� �� ��� ���� �
����� �� 
8
� 
� �
���� ���� ���
������
��� �� ��� ���	�
�� ���� �����
�� 0?�=1� 
� 
� ������� �� 0
���� @��� "#.�
�
�� *3.$1

����0�1 :
��

# ; �8�"� 0�1$
�
�� � 0�1 : ��;��

�

��
;��0

�

��
1�; 


;��0

�

��
1� 0+1

����� � 
� ��� �
��
�	� �� ��� ?�= 
�� 	��Æ	
���� ��� ����� 	
� �� ������
���
���� ��
�� �
�	�
�� �
�� ��
�
��
	 �����
	
� ��
��� ���� �
�
�

���� ��
��
!����
 
� 
	��
��� 
 ����
�� 	������
�� �� ���
	
� �������� �� 
�� ������

�
����
	 
��A�� ���	��
	� �
�� ����� ���
��� ���� ���� �� ���� ����
��
	
���

�
���
	
� ������ 
� 
�����  �
� 
����� �
���
�
�� �
�� ���	
�
�� �����
� �
����

� �� �����	��

6� ��� ������
�� �
�
��� ������� ��
�� ���� 0������
����1 ������� 
�� ����������
�
�� ��� 

� �� ����
�� ��� 
		��
	� 
�� ���	�
������ �� ��� �
����
	
���������

��� ����� �� ��� 
� 
���� ��	�����
�� 
� ���  !"

 �� ����
���� ����	� ��� 
� 9B� ����� 2�
�������� ���
��� ���� 0?2� #� �
�� *1

���0	� �� �1 �

�
����� �

�������
33

0�� ; ��1

� �
#.�	 � #*.�
�� ; *C*���� � #*.���
 ; #.�	

�
031

 �� ��
� 
� ��
� ������� �
� �� 
����� ��� 
�����
�	� �� ��� �
� ��� 
� �
��
��
����� 
���� ��� 2�
��������  ���� ������ 
�� 
�����
�
��� 0�
�� *1 D �
��
���� 0
1� 
 �����
� ������ �
����� 
� 2�
������� ���� 0�1� 
 ���� ����� 
�



* ����!�� �������� ����"���

0.5 1. 1.5 2. 2.5
0.0

0.1
E-6

0.2
E-6

0.3
E-6

0.4
E-6

0.5
E-6

Zgoubi.V99.20-Jun-97                                                               B10        (T)      v.s.    S        (m)                                       

 a   

 b   

 c    c   

�	
� �� 
����� +�� !� ��� ��� ��� ��������� �,��� �� ��� ����� �� ��������  ���!���$

��
	� ��� 
� /��� 
� ��� ���� 
�� ��� 
�����
� �������� 
� ��
��� ������� ���
��� ���� 0	1� 6� 
�� ����� 	
��� ��� ����
�� ���� 
�����
� 
� ��� �
���

������	 ����������� �� ��� D 6� 	
� �� ���� ���� �
�� + ��
� ��� : �.
..C #.��

�������� �
������ ��� 
����
�
�� 	����� ��
� ����� ������
�� ���� 
 �������
	��
	 ��
���  �� 
����
�
�� 
� �� ��� ���� ��	 � 0 �

��� 1�
��
�;0

�
��� 1�

�

�
�
�
�� ��� ��
��

��� ��
��
�� 
���� 
� ��
��������
�� 
�
�
�� ��	
�
�� ������
� �� ��� 
����
	�
��
��
�� 06�1�  �� 	��Æ	
��� 0�����1 
� ������ ��� �� �������
	
� ������ 
������	��

-0.15
E-5

-0.1
E-5

-0.5
E-6

0.0 0.5
E-6

0.1
E-5

0.15
E-5

-.001

-.0005

0.0

0.0005

0.001

Zgoubi.V99.31-Aug-97                                                                X’  (rad)   v.s.    X  (m)                                                                                                     

�	
� 
� -������ �#��������� %��� ������� ����� ��#�� �� ��. /0$

�
& !�� �$�$ �����

������� *.�1 2 ������ +�� � ��� ��� �� ����������  ������ �
3�& �� �� ��� 4�� �������
��� ��� !��� ��!������ ��$ ������� 5 ��� � �� �� ������ +�� !� ��$ ������� 5 ��!�
��� !� ��$

�� ��� 2�
������� 
�� 0�����1 
� ��� �� ��� - ���� �
�� �����
�� �
��� 
��
��������� 
	� 
� �����
�� �
���  �� ���������� ���
�� ������� ��� ��� ���	��



����!�� �������� ����"��� .

���� 	����� �� ��� 8�
8
� ��� �������� ���� 6� �
��
	��
� �
�� ��� ������� �
��� ��
��� 
 �# �� �8���� 
� ��� 
�
�� 
� ��
	��� �
�� ��
��
�� 
���� �
��
� �#. ��
#C���

�
� 
���� ��
	� ��
���� ��
� �
����� ����

-.00015 -.0001 -0.5
E-4

0.0 0.5
E-4

0.0001 0.00015

-.0002

-.0001

0.0

0.0001

0.0002

0.0003

0.0004

Zgoubi.V99.23-Aug-97                                                               Z’  (rad)     v.s.   Z   (m)                                      

�	
� �� 6������� ����� ����� ���� �� � �������� ������� %��� (7(87�70 �� �� 7


�0 �	 �� �������� �� ������� 0$&9 !�� �$�$ ������ �� � ������� ����� �� ��
 �� ��.
��!�����������	 %��� ��!�� ��� !� �� /������� ����  �����#����� 8�8 �� 
��$ &1$

�� �������� D ����
���� ��
	�
�� �� ��� ���
�
	 
������� ���� ��
�� ���
	���
�
���� >� ���� �
���� 	���
���
�� ��� �
����� ���������� 
� ��� 
����
�
��
	����� 0�
�� +1 
�� ��� �
	� ��
� 
� �		��� 
� ��� � 5
C��� ��
����� ��� ����
���
�
�
� ����� ��� ���� 
� 	
� �� �8��	��� ��
�� �� ��� ��� �
�� 
�� ����� ������
����
�� �
�
�
� &>� �� ��� ����� �
�� ��� &> �� 
���� 5�C� 
� �����  �
� �
�
���� ���	
���� 	������� �� &> ��
	�
��� ���

�� 	
� �� ����� 
� @��� "C$� >� 
�

������
�
�� �
�� 031 ����
��� 
 �
���� ��
������� ��
�� ��
	� 
� 5�C� &>�

��� ��
��� ��
� ������ 
� �#� ����

	$ !% &�' ���� ����	��
�
��  ("

 �� ��
� ���� �
� �� �8
�
�� ����
��� ���	�� �� 2�
������� ��
��� ����� 0�
�� C1

� ��� �?@�69>= C. '�, ���� ����
�� �
�� ��
�
�
�
�� 6 (����� >� 
�������
��
���	��� � 
������ ������ � 
� 
 	��
� �
�
�������� �
�� �
�
�
� ����
�� ���)�	�
�� �
��
�� ����
	
�
���

 
��� # ��	
��� ��� �

� �
	�
�� �
�
������� E����	������� 
�������� 
��
��2�
��� 
� ��� ���� ����
�� �
�� ��� 
 7����
�� �
	���� ��	
��� �� ��� �8	���
�
��
��� �
��� ��
��
�	�� 
���	

��� �
�� ��� 
������ ���� ��
�� ��
	� ����
�� 
		������  �� �����	����	�
�� 
�	 2�
�������� ��2�
�� 
 #3 	� ����� +�F  
�����
� ����� ��
	� ��
�� �� ������� �8������ ��
��� ������

9
��� 
		���
�	� ���
�� 
� ��� 
����	� �� ��
��� ����� 
� ����� 
� �
�� F�
�
��
	��� 
�� �
��	��� ��� 
 ��� ������� ����� �
����
	
�� �
�� 
�
�

� 	����
�
�
��� �
���� �� : #�3�#.

�� � � 3�� 
�� �� : . 0���� 	����� 
� ��� �����1� ��



: ����!�� �������� ����"���

-.5 0.0 0.5 1. 1.5
  0

 

  1

 

  2

B                                       

s (m)                                         

        r=7 cm                                

          5 cm                                

          3 cm                                

-.5 0.0 0.5 1. 1.5
  0

 

  1

 

  2

 
B                                       

        s (m)   

          r=7 cm                                

            5 cm                                

            3 cm                                

�	
� �� ����� �� ��� !������� +�� �/�1 /��#������ �����1 �#����� )� . �� ;� 
0��!
�,��(�� ����� ��� 4�� �������$ <��� 5 ��� 4�� ������ /=

	 =�
 ��!�����1 ����� ���
��(������ ��!������$ >���� 5 
 !	 0$. ! �� 0$&; ! ���� !������� 4�� �������$

-0.04 -0.02 0.0 0.02 0.04

-.002

-.001

0.0

0.001

0.002

0.003

           

x’  (rad)    vs.    x  (m)                                         
 dp/p = +2%                                       

-.1 -.05 0.0 0.05 0.1

-.001

-.0005

0.0

0.0005

0.001

 
y’  (rad)    vs.    y  (m)                            

-.04 -.02 0.0 0.02 0.04

-.002

-.001

0.0

0.001

0.002

0.003

-.1 -.05 0.0 0.05 0.1

-.001

-.0005

0.0

0.0005

0.001

 

-0.04 -0.02 0.0 0.02 0.04

-.008

-.006

-.004

-.002

0.0

0.002

0.004

0.006

0.008

 
 dp/p = -2%                                       

-.1 -.05 0.0 0.05 0.1

-.0004

-.0002

0.0

0.0002

0.0004

�	
� �� ����� ����� ����� �� �� �� ������	 �� ������ +�� �	 ��(������� ��� ��$ ���
��������� ������� �(���� ��� ������� �!����� � ��� �� ��� #����! �������� ���� /%���
������� ��� ������ �� 7 0�0* ! � *��	 Æ�	� 7 �&?1



����!�� �������� ����"��� ;

����� �� ������� >��� ����!����� �� .0�@�6

�����!������� ! 
;.&$9
!������� ��  ��������� ����������� ! **$

A����
 
-�- �������� ! :99

����	
���� ! *).3*9*
��	�� 
)$:)3
)$)

������� ����!������� �&)$�3�&)$�
���	�

��

�
	���	�

��

�
/��(��� ��1 �)$93�



�� : #�#.�#.
�� � � 3�� 
�� �� : . 0�
��� 	���1� 
�� �
��� ��� ��� D ;*G ���

�������� - �
���� D ����������� - ������ ��� D �*G ������������ (���
��
��� ��
��� ����� ��
��� �
�� F ��
	�
	
��� ��	�
���� "H$� ��
	� 
� 
 ���� 
��
	
�
��
�� ��� ������ ������	�
	
�� �� ��� ������� 	���
���
�� ��� ������ �����
��
�
�
��
�� 
������	�� 0�
�� C1� 6� �
� ��������� 	��	����� �� ���
� 2�
�
�
���	���������
	����
�� �� @��� "#*$ ����� 2����
��
��� ������� ����
��� 	��� ���� 
�� ��
��
��� ��� ����� �
��
�� "H$�

��� )� �
�������	�
� ����	�� �
��

 �
� ���
�� ����� 	��	����� 
 ��� ������ ���	�����
�
	 ����
�� �
�� �������� 
�

 ����
���� �
�� �� I
��� �
�� ���	�������� 0 J��(1� ��� ��
�	
��� ��
�� ��
�
����
���� ����
�� 
� 
 	�����
��� �
� �� ��
	� �
�� �������
�� �
�� ���
�
�
��

��
�� �
�� ��
�� �
/� 
��
�
����  �� �
�� 
� ��
�� ���� ���	�����
�
	 �
�
�������
��
�
����� ��
	� 
�� �
���� �����
��
� ���
	
� ��������� ���� ��� ���� ��	��
�� 
��
����
���

�
�� H ����� ��� �������� �� ��� ���
��
	
���* �
�� �� 	��	���� ��
�� ���� ���
�������
	 	��� 09,� 9B� �>� �=� 9B� 9,1 �����
� �> 
�� �= 
�� +����	�����
�
�
�������
�� �
����� 
	�
�� 
� 5. ������� ��I�	��� 0
���� �����1� 9, 
�� 9B 
��
�
�
�
� ���
	�� ���� 
� ��
���
��
�� ����
	
� 
�� ���
/���
� �������  �� ������

�
�8���
��	�� �� �
��
	��� 
� ����� ������ 
�� �
����� ��
���

� 0���1 :
��


��

�
 � �
��
 


�	�
�
�
��0 0� ��
�
1�!1

	��0 ��!1

0�" 
�� ��� ������

�� 
� ��� + ���	����� �

��� �" 
�� ��� ��	
�
��� �� ��� ��
���
� 
� ��� �
��
�	� ���� ��� ��
�
� �
��� 
� ��� ���� ��
�� ! 
� ��� 
�������
��
�
��
�	�1� 6� ����� �� �����
��
�
�
��� 
 ����� �� ��� ��	��� ����� 	��Æ	
���� ��
��� 	��� ����
�� �
��
�	
�� 8�/� 
� ���� 
� /�Æ#�# 	����
��� 6� 
��
�
�� �
��
	���

�� ������ ���� �� ��� �
���� ���	� �� ��
� ���
� �
�
�
�� �
 ��������� ��
�
�
	
�
�

�
��� 0���	� ������ 	��Æ	
���� 
� 
��  
���� ���
��1�

> ���� 
��
	
�
�� �� ������	�
	 
�����
�
�� ���� 
� ���

��� �� 	��	�
��
�
�
�� 
		����� 	����
���� ��	� 
� ���
� ������ 0��� �� ��� ��	
� �
���
	 
��

�� ������

� 0,0K�L�!11 �����
��1� �
���
	 ��������� �� ����� 	
�	��
��� ����



9 ����!�� �������� ����"���

�	
� �� ��� �-
�� ����$ =��������� ��� �� !����!�����$

���
�
�� $0�� �� 	1 
�� ����� %0�� �� 	1� (�	� 	��	�� 
� �
��
	��
� ��� �� ��� 
��
�����

�� �
�
��� �
��� �� ��� 
�����
�
�� ���� �	 
� ��� �
���� ������

&> ��
	�
�� ��

�� 
�� ����� 
� �
�� 5 ��� ��� ������

� �
���� 
� 9,�  ���
���� ��
�
/�� 
� ����� �� 
����� ��� �
�� 
		���
�	� 
�� ����� �� �� ���� ���
����

� �
��
	��
� ���� �� 
�� �
�� �� ��
�
� ���
��� 
� ��
�� �� ��� �������� ����
�
��
� ������  �� ���
/���
� 
		���
�	� 	���� ��� �� �� �
���� �
���� �4 ��

� �������� 
� 	 : .� �����
� ��� ����
	
� ��� 
� ��
��
	
��� 
��	��� �� ���
�����
��
�
�
�� 
�� ���� ��� �8	��� �# ���

-0.004 -0.002 0.0 0.002 0.004

-0.003

-0.002

-0.001

0.0

0.001

0.002

0.003

0.004
       x’ (rad)             

    x (m)             

  (V_LH = 38 V)           

�	
� �� 
000����� ����B����� ���������� �� �#����� �� � 7 0	 %��� 
�� 7 )9 6����	

�	 7 ;: 6����$

� ��
���

 �� �
����
	
�� ���	����� 
����� 
		����
�� ��� �
���� ���	������  �� �
)��
	
��� �����
�� �� �
	�
�� ���
�� 
�� �
��� ����
���� ��� 
������
�
���



����!�� �������� ����"��� �

-0.0006 -0.0004 -0.0002 0.0 0.0002 0.0004 0.0006

-0.0004

-0.0002

0.0

0.0002

0.0004
       z’ (rad)             

 z (m)             

  (V_LV = 60 V)           

-0.001 -0.0005 0.0 0.0005 0.001

-0.001

0.0

0.001

       z’ (rad)             

 z (m)             

  (76 V)           

�	
� �� 
000����� �������� ���������� �� �#����� �� � 7 0	 ��� 
�	 7 :0 �� ;: 6����$

*�� +���#	��
� +, 
���

0 200 400 600 800 1000 1200

0.0

0.5
E-13

0.1
E-12

0.15
E-12

0.2
E-12

0.25
E-12

0.3
E-12

0.35
E-12

Zgoubi                CE-S growth                             

     s(m)               

  1      

  2      

  3      

1220     1224     1228     1232     1236     1240

0.5
E-13

0.1
E-12

0.15
E-12

0.2
E-12

     s(m)               

  1      

  3      

  2      

�	
� ��� �!������� ���%�� �� ���<� C�� � �,���� �� ��(�������$ 
 5 �� 7 �� 7 0	 & 5
�� 7 
0���� �� 7 
0��� !$�� 	 ) 5 ��(������� ��$

(��	������� �
�

�
�� 0(@1 
� �
����
	 ����� ���

�� ���	�
��
	 ������ �����
 �� ����
�
�
�� �� ��
��
�� ������� 
 ��
���� �
�

#0&1 :
0���1��

&<
�8�0�&1

�
�� ������ ������ �
���
���
��

	0����1 :
+

C 

� 
�
�

�

�
�


�
�

'���0�1��

?����� ���� �� 
 �
��
	�� 
� ���

��� �� ����
�
�� ���� ��� & �������� 
��
���
��� 
���� �
	� 
�����
�
�� ���� �	�




0 ����!�� �������� ����"���

J�� 
��
��
�� �� ��� �
����
	
�� ���� �
��
8 �������
�
�� ������� 
� 
��

		����
�� ��� *�� 
�� �
���� ����� �������
	 
�� 	����
�
	 ���	��� >� �8
����
�� 
� 
���
	
�
�� �� ��� ���	
���� M	��	����
�
�� ���
��� ����
	�N ������ 
� ���
 ?(9> =&( 
� �
��� 
� �
�� #. "#+$�

*�� ���-
�#� �	��
�
� ���	.

> ���
	
� 
������� �� ��� �
���
�
�� �� ��	� ���	���� 
�� 
�� ���	�� �� ��
��
�	�

�	��
��� 	��	���� ��� ���
�� �� ��� ����� ��� �� 
 �����
�� �
	����� 
�	���
��
���� ��
� 0����
��� �
���1 	���
�� ��
��� "#C$�

 �� ����� �
��� ������ �� 	��	��� �
���
��� 
 ���	
���� !���	
�� ��� 
��
��
�	� ���  
 �;( ��	
� "#3$�  �� �
���� �
�� 
� 	�
�
	���
/�� �� 
�� �
�����
�������� #� : )������� 
�� ��� �
���
�� *�� � �
���
���� �
���
�� *� : )�*

�

�


�� ��	
� ������ 	� : ��)��*
�

� �  �� ��	
� ���� �
� �
�� �� 
�� ��������
#� : )������� 6� 
� 	��
��� 
� �
���� �
�� ������ 	� ���� ��� �8������

� �
�
+�+� : ������ �  �� �
���
�
	 �� ��� ��	
� 
� ����� ������
��� �� ��� ������

X

Z

Y
1

2

2

θφ 2

M

Y

X

Z1,2

1,2

T2T1

P2

P1

1,2

�	
� ��� @��!���� �� ��� /
1� /&1  ���� ��!�������$

���� �� ��� 
���� 2�
��
�
��� 
��� ��� ����� �
���� �������� �
�� ��� �
�
������

� ��� �
���
���� �������� #� 
�� ��� ��� ��	
� 
���� ,��� ��
	� �
���� ���
���
�
����
��

-� : -��� �
� ,� :
#

)�

�
� ,��
������ ; 	�� ,

�

�

0C1

 �� ��� ������ .�

� 
�� �
���
���� ������ .� 
�� �
��� ��

.�

�: 0�
�
� ;��

�1�*��� .�: )�
�
.�

� ; ��#
�

� 	�� ,
�

�

�
0F1

�����
� #�� : ���.
�

����



����!�� �������� ����"��� 



� �������	��

 �� !����
 �
����
	
�� ������ �
� ���� ���	�
���� �8
����� �� 
�� ��� �
��
���� �
��� 
�� ���� 
�� ���� �
�� 
		��
	� ��
� �
��� 
� 
� �Æ	
��� ���� ���
���	
�
�� &> ��
	�
���

�
�
�
��
�


$ ��� ����������� �� � '���#�	 
$ �D���	 ��>� �<3�*�9& /��1 /
��*1	 ��� � *&;
/
���1 ).)�).:$
'���#� �����8 ��� �	 
$ �D��� �� �$ 6�����	 >����� ��� ���3������3���3�;�

)	 �� 
�>��<�C����&0
0	 ���$ 
��;$

&$ ��� ��� ��������	 <� �������!E���� ��	 F$ ������� �� �$ C�����	 �������� >����� ����
�3��	 ��� ������	 &) �D��$ 
�;.$

)$ � ��!������ !���� ��� ��!#��� ���� ����"��� �� ����������� �� ������ ���������	

$ �D���	 ��� � )
) /
��&1 *�&	 �� ����$ ���� ����$ /
��&1 �$;*;$

*$ -� ��� �,���� �� ������ +�� � �� ��� <A� ����	 
$ �D���	 ����$ ���$	 
��:	 6��$ ..	
��$9)��&$

.$ ���������� �,���� �� ������ +�� � �� ������� ����  �����#����� �� ��� �� ��%�
 �������
��  ���!��� �� <A�	 
$ �D��� �� �$ ���GH�	 >����� 
�>��<�C����&0
;	 ���$

��;$

:$ -� ������ +�� �,���� �� ��� ��>� .0 @�6 !��� ������� ����	 
$ �D���	 ��������
>����� ��� ��� ������3����00�0&	 ������ /&0001$

;$ -� ������ +�� �,���� �� ��� 
�>��<�C .0 @�6 !��� ������� ����	 �$ F��������
�� 
$ �D���	 �������� >����� ��� ��� ������3����0
�0.	 ������ /&00
1 �� 
����$ ��� 0
 ����$ /&00
1$

9$ �� ��� ��� �� ��� 
�>��<�C ������  �����	 
$ �D���	 �$ F��������	 �$ ���B� ��	
�������� >����� ��� ��� ������3����0
�0.	 ������ /&00
1$

�$ ��������� ����������� #���  ����� ��� � �� � ��!���� ��!� �� I���� !��� �����
���!���� ����	 �$ C����	 
$ �D���	 �$ ������ 	 ����$ ����&000 ����$	 ���!��� �	
@��!���	 

�
* ����$ &000$


0$ ��I������ !������	 A$�$ ����	 �� 	�
����
 �� 
���
�� �����
���	 ����!� &	 �$ ����
���� � $	 ��� �!�� �����	 ��%�J��" �� <�� �� /
�:;1$



$ �$ 
����@���� �� �$ 6�� ���	 ����!�� �������� ��!�������� �� ��� <A� �� �������
��� ������  �� �� ��%�
 ����������	 ����$ ���� ����$ 
��:$


&$ 
����� +�� � ��  ���!�� �������� �� ��� 
��< !��� ������� ����	 
$ '�!!���
!��� �� ���$	 ��>���<�&000�0

 �� /��� *	 &0001$


)$ ��!������ ����� ��� ��� ��!������� �� �> ���� �� �� ���  ���!���� �,���� ��
���� ������ ��������� �����	 
$ �D��� �� F$ �����	 ������ ���3������3����00�
0
	 ��� ������ /&0001$


*$ >��������� %��� ����� ����� ��!������� ��  ����	 
$ �D��� �� �$ K�����	 ������
<��399�
9	 ��� ������ /
�991$


.$ �������� 
�������� #��� �� ���� ������� >����	 ��
���8��	 <���	 .�� F��� 
���	
����533�������$��&�)$��3��������3$


